Repair Parts EA-I[!]CCAEgrg

Geberit Group

Thermostatic Mixing Valve
131-LCFMJKABRCF

HEX SCREW, M4X0.7X10MM—__ "~~~
(NOT SOLD SEPARATELY]A\i |
SCREW, M4X0.7X30MM | -
(NOT SOLD SEPARATELY)
KIT, TEMPERATURE CONTROL :
131-002KJKNF %

SCREW, M4X0.7 X 16MM

(NOT SOLD SEPARATELY)

KIT, BONNET
131 -OOSKJKNFK
I

I M 131-003JKNF
KIT, CARTRIDGE : ) KNOB LOCATOR
& KNOB LOCATOR_\ : (NOT SOLD SEPARATELY)
131-XFMJKNF

131-006 KJKRCF

IT BYPASS CONNECTOR, 3/8 COMP ! |

VALVE BODY
(NOT SOLD SEPARATELY)

SPACER
COMPRESSION NUT, 3/8 TUBE (NOT SOLD
(NOT SOLD SEPARATELY) SEPARATELY)

FERRULE, 3/8 TUBE

(NOT SOLD SEPARATELY) L BYPASS CONNECTOR, 3/8 COMP

131-007KJKRCF

FOT Tec h n | Ca| ASS | stance: 2100 South Clearwater Drive
: Des Plaines, IL 60018

Phone: 800-TEC-TRUE (832-8783) Phone: 847-803-5000
Email: techsupport.us@chicagofaucets.com chicagofaucets.com



